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Note: ~You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A i)

Q.1 Questions /=iy A B c D
FE_ Lk
1 vV w %2 2 L2 2
. NV e U=w u=vk u=wk u=vk
if —=— =k then:
v w
e f)z“ 2 5
2 2 A B A +BJc+C A.x+B+ C A + Bx
Partial fraction ofz;:%@ areofthe | x+1 »°+2 | x+1 x+2 | x+1 242 | x+1 £+2
form:
3 by sl b : g
Power set of an empty set is: ¢ { } {¢ } {¢}
a _4_b'nx.l/.AhBhlA<_:Bﬂ A B p AB
If Ac Bthen AN B isequalto:
_qfalhf w0l Tz /»LJ:".,/U::I/({( Al wu’;Tﬁ ~lbos »l
5. | The most frequent occurring observation in a Mean Harmonic mean Median Mode
data setis called:
The symbol for a triangle is denoted by:
7. p— 90° 45° 60° 30°
If tan@=+/3 then @ is equal to:
b s Sorlrs” ol A5 BT b
8. | The spread or scatterness of observations in a Average Dispersion Central tendency Mode
data setis called:
9. ,ékw/ﬁ(rfgfg/'b ('59'19 94% 73 )".
Aline intersecting a circle is called: Secant Tangent Chord Diameter
ST 7337 £l 40° 56 PHUTL
-g-ben ’ & s .
10. 20 40 60 80
An arc subtends a central angle of 40° then the
corresponding chord will subtend a central
angle of:
11. &b LS:-.«_(IJ /b’a—l'bufl (‘f@'ﬁ 73 Vi S,
Acircle has only one: Secant Chord Diameter Centre
st SUAict o + bx+c =0 bl aGusn
12. | The number of terms in a standard quadratic 1 2 3 4
equation @ +bx+c=0Is:
13. _q-—u‘f V..)a bk[—(}b’l 0 1 -1 3
Sum of the cube roots of unity is:
2aTunnd P —x-1=0 epba, B /i
14. -4k S E 2 -3 2 4 -4
if «,/ are the roots of x*—x—1=0 then
product of the roots 2 and 24 is:
A e " Umatbicid o F o i) «—EBZ —FlZ
15. | Ina proportion a:b::c:d, "b"and "c" are Means Extremes Fourth proportion | Third proportion
called:
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Note:- Section B is compulsory. Attempt any three (3) questions from Section C but question No.9 is compulsory.
(SECTION-B /».»)

2. Writoshortanswerstoany sixparts.  (Bx2=12) B FhrFLingeds 2
i.  Write in standard form. x23+4 —',J7£= -ﬁu:d"d,yw i
ii. Solve. SBriiB=x ES o
ii. Define Reciprocal Equation. ,éhy Al & i
iv. Find the discriminant of the given quadratic equation.  2x? +3x—1=0 _éé()”sﬂ/d)t{ab(/(j»»gd: iv
v. Evaluate. &+ &t +1 y - ,éé(:"’:/:’. R'
vi. Form a quadratic equation with roots 0 and —3. Un =310 ‘f" 2wl bl Gann i
vii. Find a,ifthe ratios a+3:7+a and 4:5are equal. _éé()”a iu,ﬂ4u4:5ula+3:7+ao&;’ﬁ Wvii
viii.  Find a third proportional to: a*-b*, a-b _ér}”./m A& il
ix. Define Proportion. _édg/'.dwk? Jix
3. Write short answers to any six parts. (6x2=12) _ég Pz [_,12!44431 23
i. Resolve into partial fractions. (x—;xj)'z' _éd:‘;uf-u:/d)f i
ii. Resolve into partial fractions. (_x'_,__a)x(T;j ‘ _éd:; ViF Gez i
i. If X=¢ and T=0" thenfind X AT . EFXATin T=0"nX=¢/ i
iv. If 4={0,2,4} then find Ax A. ot AxATIn4={02,8 /1 v
v. If X={ab,c}thenfind Xx.X. _é(}”XxXinX={a,b,c} A
vi. Write De-Morgan's Laws. -é o !fLJ;Lod:‘ Vi
vii. What is a Histogram? ?JZ{J}:;JV vii
vii. Define Mode. P
ix. Find range of: 11500, 12400, 15000, 14500, 14800 e ix
4. Write short answers to any six parts. (6x2=12) -é{; iz Lizigedy 4
i. Convert 315.18"to D°M'S" form. Edel DM F315.18 i
ii. Find » when £=56cm and 6=45° §=45 it =56cm £EeFr i
jii. Simplify the expression to a single trigonometric function. tanx. sinx. secx _é’u:d‘wéyf..{:&/;i‘f& il
H A8erds v iv. Define Radian.
"‘"_‘é;?;ﬁ“é"‘ - v Define Projection:
o8 bh N vi. Define Collinear Points.
o AE5EE il vii. Define Secant of a Circle.
2P0 L il viii. Define Circumference of a Circle.

W L,ﬁéduo/ .ix ix. Divide an arc of any length into two equal parts.
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5.(a)

(o)

6.(a)

®)

7.(a)

C))

8.(a)

(b)

¢))
(SECTION-C /r.») '
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Attempt any three questions. Each question carries Eight marks. But question No.9 is compulsory. (4+4=8)
Solve the equation by completing square. 11x2 -34x+3=0 -éd’ =8, ‘}.”‘. Felsls

Find the cube roots of 64. e Aurl 64

8= ﬁé(}”o;’.:é S-3 A z,nL/du"":.-»./U:‘“’,.,.J;y
r—-q9 S+3p S-3q
Using theorem of componendo-dividendo, find the value of oD + L if $= 6pq
S+3p S-3¢q p—q
3x-11
Resolve into partial fractions. (x+3)(x2 + 1) _édﬁ‘; JaUs / {154

A uIE(ANBY =4 OB IELTMGTn B={2,3,5,T} o 4={1,3,57.9} U={1,2,3,4,5,6,7,89,10} /i

A

(.5

(o)

(a)-6

(b)

(a).7

If U ={1,2,3,4,5,6,7,89,10} ,4={L3, 5,7,9} and B ={2,3,5,7} then verify the De-Morgan'’s Law '(AmB)' =4AUB

'

<

Calculate variance for the data. . 10,8,9,7,5,12,8, 6,82 ok _aé(:"’ oy i1l
W 1 1 2 £ >
Prove the identity. = 2cosec’d e S O Vg

+
1-cosd 1+cosé

In and around the circle of radius 3.5cm draw a by y‘rp ﬁLJJ’JA”LU’L%(S.5(/’)15/4—/”35.’.('
regular hexagon.
Prove that if two chords of a circle are congruent then -Z_Un.l—’(ﬂld;t/af /u]u,ﬂgfu"‘}': »Lc./’bfléc/.li’
they will be equidistant from the ¢entre.

OR / : t L

_4‘,b'ﬂW}:é—é—:.‘i;/&pﬁ(J;JJ’?L'ﬂU:Aﬁf;;‘U(S//llbé.",c:,a/é’u';uf-a/'bujééat‘

Prove that the measure of a central angle of a minor arc of a circle, is double that of the angle subtended by
the corresponding major arc.

®

(a)-8

(b)

-9
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think Is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two.or more circles will result no mark.

(SECTION-A i)

Q.1 Questions /=iy A B c D
:»ff 111‘/0 2k J..—f'; l.g S 2Aslay ' < ‘ % 53
-0l vora v S x Jreriton cbldlic =bls.i B2 O (VA
1. | An equation, which remains unchanged when x is Exponential Radical equation Reciprocal None of these
replaced by L is called a/an: equation equation
X
2, , e b L S 0 1 -1 3
Product of the cube roots of unity is:
A 2a FunSnd P+ gr+r=0 bl fa /i
3. Hrad§2p 4 r —2q -
if @,f are the roots of px’ +gx+r=0, then p p P P
sum ofthe roots 2 and 24 is: '
4. -4'(:'1,‘/" a"Sabes (_-Jw ,}1& ,}4(5/» u’.""(}k,u‘ic)j
Inaratio a:b, "a"is called: Relation Antecedent Consequent Nene of these
5 S U x* X3 y: v
The third proportional of x* and ?is: »? ' x* x2
6. -4 J(x+3)2 =x"+6x+9 c«bf/(fz)v_( ohls Hle ujafcuf-dj
(x+3) =x*+6x+9 is: a linear equation an equation an identity None of these
7. b S il K Ll 2 ..'f.Vf 4
The set having only one element i called: Power set Null set Sub set Singleton set
8. -s-rnas(4VBjoC AV(BUC) | An(BUC) | (4UB)AC | 4n(BAC)
(4UB)UC isequalto: , _
-q.—&h/ seibts L7 policarisiry” £ b Aal-..ﬁfr? bl
9. | The most frequent occurring observation in a data Median Mode Harmonic mean Mean
setis called:
- 4 bW e S P UR ATy gl 26k 262 2§ s
10. | The observation that divide a data set into four Quatile Decile Percentile Median
equal parts is called: i
11 9 Sl sing L 1
" Heeieaty =3 coséd sin@ cos &
12 Lot ";:UO'; e A1 B A7 ede iy’ Aapl
" | Radiiof a circle are: by _ All unequal Half of any chord All equal
diameter
13 _4_1;')7__6;@.3/34,]!:.@ 36’1& 7 .’// Y
1A circle has only one: Secant Chord Centre Diameter
gk T pYsF Lt . . ) .
14. | The semi circumference and the diameter of a 90 180 270 360
circle both subtend a central angle of:
15 _4;.lrl}/ ¥ b 7s & o oy
" | The circumference of a circle is called: Chord Segment Boundary Area
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Note:~ Section B is compulsory. Attempt any three (3) questions from Section C but question No.9 is compulsory.
(SECTION-B /».»)

2. Write short answers to any six parts. (6x2=12) ,54/" iz Lﬂzlqc&f 2
i. Solve by factorization. 5x% =30x _éd’ ¢ 7’ ik i
ii. Write the given quadratic equation in standard form. x23+ 4 —g =1 _é uf'-p(id),!g"f.:blfgf J’}J(}y G i
iii. Solve by factorization. 3y =y(y-5) A Ak i
iv. Evaluate. (1 ~o+ w2)6 ,Zé(?’ el v
v. Prove that the sum of the all cube roots of unity is zero. -q_bx}‘aft’gﬂbkﬂa’éalﬂféab RY
vi. Find discriminant. 4 -Tx—2=0 _é(}”,)fu') i
vii. Find a third proportional to: (x-y), ¥~y ,z{,-}*’._/c:» L4 vii
vii. Define Inverse Variation. -éugﬂdu’ﬁ‘j .viii
ix. If 6:x::3:5 then find "x". ,é()” "x" i 6:x::3:5fl .ix
3. Wirite short answers to any six parts. (6x2=12) ,ég ¥1o 14 ¥4 ‘C—»’Zli,éaf -3
i. Define a Rational Fraction. -éqid/&”t i
ii. Resolve into partial fraction. ﬁ(_xgq ESE S i
ii. 1 4={2,3,57}, B={3,5,8} thenfind AUB. -éé(}"AuB?:f B={3,58} , 4={2,3,57} /1 ii
iv. Write all subsets of {a,b} . v L {ab)er v
v. Define Function. , ,é..g/"(jd‘w v
vi. Find a and b if (a—4,-2)=(2,1) (a-46-2)=(2,))/i# bsia i
vii. Find arithmetic mean. 200,225,350,375,270,320,290 -aé(}" MIL_SL) Vil
viii.  Find range from the given data: 11500,12400,15000,14500,14800 _é,’!"' e oAy st viii
ix. Define Class Limits. -éuj AlwelFl i
4. Write short answers to any six parts. (6x2=12) _25_54 7 ez L»ffli,céi’ A
i. Convert -5—675 into degree. _c’édiu‘-'- dfifs?” N
i. Convert 60° into radian. ALt sd 600 i
iii. Find r when @ :% radian and {=4cm £=4cm 2 9=% cLis .Qaé(}"r dii
iv.  Prove that. (1-sin’ 6)(1+tan’ 6) =1 ek v
v. Define Projection of a Paint. ,éd; A SSLBS v
vi. Define Tangent of a Circle. ,Zéq A Sub Lot i
vii. Define Circumference of a Circle. -éd.ff"' Ljiééu'b Vil
viii. Define Inscribed Circle. _a"-fq ¥yl J.)b;/ viii
ix. Define Radius. _éd, Yl qu'fu Jix
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5.(a

(b

6. (a)

)

7. (a)

(o)

8.(a)

)]
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(SECTION-C /v.»)
5“4 .-q 2/' 23 (4+4=8) _+615(9)/diru-6 BANL )y g s i Lctirf 2 (7

Attempt any three questions. Each question carries Eight marks. But question No.9 is compuisory. (4+4=8)

Solve the equation by completing square. 7% +2x-1=0 .éf'd’ PN /d.‘é Fetsle

?=a® (1 + mz)ﬁ-Lu,ﬂ'/J/.JyL xt+ (mx +c)2 =q° .:»bb‘fé.:/.f#

Show that the equation x* + (mx +c)’ =a? has equal roots, if ¢? = g2 (1+ mz)

3x-1

3 . 2x 7 e
Find x in the proportion. 7 :gii‘?i; _éﬂ"a‘:'dxu:y(i
3x-11 5
Resolve into partial fractions. ( x+ 3)( x2+ 1) -édi U:Uﬁ/ Usz

If U={1,2,3,4,.... ,10}, 4 ={1,3,5,7,9} andB={l,4,7,10} then verify the given (AmB)' =4'UB

Calculate variance for the data, 10,8,9,7,5,12,8,6,8,2 -éf—!(f’" <2, Foly
Prove that: tan € + cot @ = sec Hcosecd N éax,b‘
Inscribe a circle in an equilateral triangle ABC _)ffsayéff ﬂiul,éé_ﬁail:Jf; ¥ ABC ¥ Lwnssl-
with each side of length 5cm.

Prove that one and only one circle can pass through ,c;—Csz,/’bu}uQa /uluﬁz,}(‘ﬁd” 2l S é:z.t‘
three non-collinear points.

OR L

Prove that any two angles in the same segment of a -ui'i.yu.u(?l, ‘ uyr(‘zbuf-./’b)"'&.gi LS éi‘(.:f.(f'

circle are equal.

(a).5

(b)

(a).6

)

@).7

()}

(a).s

)

-9
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